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QUESTION 1

Refer to the exhibit. 

A customer has a Symmetrix VMAX storage array configured with FAST VP using three storage tiers. Policies are active
for all storage groups on the array. The customer would like to increase the size of data movement requests. The
current configuration of FAST is shown in the exhibit. 

Which parameter should be changed? 

A. Data Relocation Rate 

B. Max Simultaneous Moves 

C. Max Moves per Day 

D. Data Movement Mode 

Correct Answer: A 

 

QUESTION 2

A proposed SRDF/S solution was modeled with BCSD using host-based data. · The BCSD model assumed two engine
VMAX arrays with SRDF Fibre ports. · The RA Utilization chart shows a maximum utilization of 45%. The "Volume
Exceptions" table lists five devices. 

What should you recommend? 
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A. Change the application layout 

B. Add more remote adapters 

C. Use three engine VMAX arrays 

D. Turn on software compression on the remote adapters 

Correct Answer: A 

 

QUESTION 3

What is the size of a thin device extent in a Symmetrix VMAX? 

A. 768 KB 

B. 512 KB 

C. 64 KB 

D. 1024 KB 

Correct Answer: A 

 

QUESTION 4

What is the purpose of ISL trunking? 

A. Multi pathing 

B. Inter switch communication 

C. Traffic load balancing 

D. FC Routing 

Correct Answer: C 

 

QUESTION 5

Which two tools should be used to compute the Capacity Available for Active Replication (CAAR)? 

A. SymmMerge and Direct Express (Channel Express) 

B. SymmMerge and Tier Advisor 

C. BCSD and Direct Express (Channel Express) 

D. BCSD and Tier Advisor 

Correct Answer: A 
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